o
N
X
=
o
&
(=
N
X
=
o
&

= C T A C
e E | ) E
O E=I=EER | G EEEER) SRR I © SO ERLE S EERE S0 JN1S|ERTRRE PO ERRE: EEPPRRR RN FETRRPRORS: FERRPS
S o ! o o
el N | N (R DR 4. S AN R O [ A
° 0.1 :. v 0.1p
O e R S I ffoe e i ARREEIE RERER
0:— ---------------------------------------- : EREPEEE
—0.05f -+t ofeeecfroeeete e b 008 e e [ R
e L S (NS MO NSNS I ()| SISRS S5 B SRR FRS S SR Jenene
=015 - offie oo free et SRR [XEET
.9_0_2;....I....I....I....!....!.... ....!....!....
c F TP dE
2 o AR 0| R = 2.
[ A il
O: H . I : "
=3 -2 -1 0 1 2 3 1 2 3

TP n (PCA to beamline) TP n (PCA to beamline)

—s=— DQM_V0001_R000000001__Global__cmssw1000time__RECO
—— DQM_V0001_R000000001__Global__mkFitNewOLD1000time__RECO
—— DQM_V0001_R000000001__Global__mkFitNewTEST1000time__ RECO

100, T " " = 100

(23 e ]
o O

N
o

< 00, > (M)

20

=
o
o
T
-

100

RatioI
RatioI
S

: ] : ] ] : N : :
%32 -1 o0 1 2 3 %2 -1 0 1 2z 3
TP n (PCA to beamline) TP n (PCA to beamline)

= 5p T T
B o N .
A 4F ; i
o E : i
= 3:— ; T -
ol E : f
o 2F : b
v E : :
1 ; i
E LE (94l i :
OF--ttH I . LT
16+t el ‘ hit
—2F : H T v
Ef i ;
_42_ -
o~y b i UG
E I=---- 11 - F ------
x E i : i | :
0.5 -1 st s £ 1 A e
i NIE 1 :
ok he A ] L H A |
-3 -2 -1 0 1 2 3

TP n (PCA- to beamline)



	Contents
	Page 1


